4th Class: Answers for Week 9
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Cracking Maths
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Abair Liom
	Page99
A.
1. Chuaigh an teaglach go dtí an sorcas.
2. Bhí an sorcas ar siúl i bpuball mór.
3. Ní fhaca Daidí an moncaí.
or Ní fhaca Daidí é. 
4. Bhí na heilifintí ag damhsa.
5. Thaitin an Sorcas leis na páistí.
6. Bhí brón ar Dhaidí mar bhí sé fliuch báite. 
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C.
1. Bhí brón...
2. Bhí áthás ar Shíofra...
3. Bhí eagla ar Sheán...
4. Bhí imní ar Mhamaí...
5. Bhí ionadh ar na buachaillí...
6. Bhí fearg ar Oisín...

D. 
1. Go tobann
2. Bunoscionn
3. Bunoscionn
4. Go tobann
5. Go tobann
6. bunoscionn
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F. 
1. Ní raibh. Bhí hata buí le spotaí glasa air. 
2. Ní raibh. Bhí gúna glas agus riteoga bána uirthi.
3. Ní raibh. Bhí bróga ollmhóra dearga agus carbhat le spotaí air.
4. Ní raibh. Bhí hata ard agus cóta fada dearg air. 



St. Patrick Comprehension
	1. St. Patrick was born in Wales. 
2. Saint Patrick used shamrocks to teach people the Holy Trinity- The Father, The Son and The Holy Spirit
3. Saint Patrick was very poor. He worked as a slave for six years. 
4. We celebrate St. Patrick’s Day on the 17th of March. St. Patrick died on this date in 461.



Grammar: Here/There/Where
	1. I am sure that is where I left the book.
2. We are only here for a couple of days.
3. Do you know where I could buy some new laces?
4. Where is the nearest train station?
5. We can sit over there in the shade if you would prefer.




image6.png
17.8,900 > 7,999 Tue X False
18.994+9=_ 1,003
19.103-9= 94

20. How many ninths in four wholes? 36
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THURSDAY

1.1,000-14= 986
2.09x4=_36

3. The line of symmetry is

X horizontal.
e - )
" diagonal.
4. Write the largest number possible using the digits
7,9,0and 4.
9,740
5.03<1 X Tue | False
6.9,18,27, 36 45,54
7653 = 8 r 5
8. How long is - of a metre-length pole?
75
9.4x7=_28
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20 past 7
2. How many sixths in 3 wholes? 18
3.08x3=_ 24
4.24,26,28, 3
5. Write as a decimal. 80cm = 0. & m
6.3500ml=_ 3 L 500 ml
7.204-9= 195
8.5 hours 45 min. add 2 hours 10 min.

= 7 houfs) 55 minute(s)

9.9x2x5=9x( 2 x5

10. Share 30 sweets equally among 3 people. How
many each? Complete the number sentence.

30 + 3 =10
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11. How many angles has a parallelogram?

12. Order from least to greatest value.
1.4 0.8 0.1
01 , 08 14

13.60+5)-@=1)=_8
14.36,42,48, 54 60
15.60+30+70= 160
16.739 = 7 1 5
17.15m=_150 m

4

2.0
20

18. Which triangle has aright angle? A
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10.2-05=_15
11. How many sides has a thombus? 4
12.40+90= 130
13.Productof6and 7= 42
14862 = 1 r 6
15.42=6x8 True X False
16,99 11)-(6+3)= 7
17.15kg= 1500 g
18.7,750m=_7 km 750 m
19.210-70 =140

20. Abus is due to arrive at 3.25 p.m. The time is
2.50 p.m. How many minutes before it is due?

35 minutes
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13. Length
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2. a)4cm  b)2em o) 4em
d)8cm ) 1em
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Centimetres and Metres
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3. a) 20cm b) 50cm
<) 80cm d) 30cm

4. a) 20cm
b) 40cm =
©)80cm = 5m = 0.8m
d) 60cm =
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5. a) 30cm b)0.7
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6. 2) 160cm = 1m 60cm =
15m = 1.6m
b) 180cm = 1m 80cm =
18m = 1.8m
9 175m = 1m 75cm =
12m=175m
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h) 920cm = 9m 20cm =
9Zm = 9.2m

) 750cm = 7m 50cm =
74m=7.5m
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1. b)2m67cm ) 8m 72cm
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h)6.21m
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9)4.9m
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d) 801em e 217cm
) 768cm g) 903cm
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Thomas 285cm 2m 85cm 2.85m
Chloe 123cm 1m 23cm 1.23m
Sarah 301cm 3micm 3.01m
Jack 494cm 4m 94cm 4.94m
Luke 838m  |8m38m 838m
Emma 571cm 5m 71em 571m

708m | 7m8em 7.08m
Dara 982em  [9m82em [9%2m 9.82m
Des 647cm  |6ma7em | 6ioom 6.47m
Eileen 505m  |SmScm  [Sism 5.05m
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1.9of 70 =21
2.09x3=_27

3.439 = 9 r 3
4.2x39x5=_ 390
5.6250m=_6 km 250 m
03,0609, 12

6.
7. How long is &~ of a metre of ibbon? 25 cm
8. Pair the parallel sides.

A ad E
H and D
G ad C

B and F
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DAY

1. Tick the correct box.
The angle of the fish's mouth is
X <aright angle.
[ > aright angle.
[ =aright angle.

2. Share €20.00 equally among 8 children.
€250

3.225ml= 2 L 250 mL

4.010x4)x3=10x(_4  x3)

5.999+7=_1006

6. What is the place value of the 7 in 2.97?
["Ttenths X hundredths

7.3 hours 20 min. add 2 hours 15 min.
= 5 hours) 35 minute(s)
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18. If a bus is due to arrive at 6.15 p.m. and your
digital watch displays 5.55 p.m., how many
minutes before it is due?

20 minutes
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8.160-70=_ 90 .
9. The line of symmetry is

horizontal. vertical. X diagonal.
10.07x3=_2.1
1118000, 6,000 , 4000/, 2,000

12. How long is half a metre of string? 50 cm

13. This is an irregular
pentagon "

1a 2] 13
37679

15. Write as a decimal. 75cm = 0. 75 m
(0:2= 10
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9. What is the missing \G
\ [

measurement?

500 mL \
.
10. Write the largest number possible
using the digits 3, 0, 4 and 9. 9430
11. Order from greatest to least value.

07 12 0.9 1.1
12, 11, 09 , 07

12.30+5)x (1 30

13. Share 25 cakes equally among 5 people. How
many each? Complete the number sentence.

25 + 5 = 5
14.Whatis the area of agrid 9mby5m? 45 m?

15. What is the chance of getting homework today?
impossible unlikely ~ Teacher check
possible likely certain

16.15km=_1500 m





